

Modified simple equation method to the nonlinear Hirota Satsuma KdV system

E.M.E.Zayed¹, Khaled A. Gepreel^{1,2} and M. M. El-Horbaty

¹Mathematics Department, Faculty of Science, Zagazig University, Egypt.

²Mathematics Department, Faculty of Science, Taif University, Saudi Arabia.

Emails: kagepreel@yahoo.com;

(Received September 09, 2014, accepted December 16, 2014)

Abstract. In this article, we use the modified simple equation method to construct the exact traveling wave solutions for some nonlinear PDE's in mathematical physics namely the coupled Hirota – Satsuma KdV equations and the generalized coupled Hirota – Satsuma KdV equations. Based on this formulation, solitary solutions can be easily obtained by using the proposed method. Some known solutions obtained by the tanh-coth method are recovered as special cases. The proposed method is direct and more powerful than the other methods.

Keywords: The modified simple equation method, Exact solutions, Nonlinear evaluation equations, The nonlinear Hirota Satsuma equations.

1. Introduction

The nonlinear complex physical phenomena are related to nonlinear partial differential equations (NLPDEs) which are involved in many fields from physics to engineering, biology, chemistry, mechanics, etc. The exact solutions to nonlinear partial differential equations (NLPDEs) play an essential role in the nonlinear science, in that they may provide much physical information and help one to understand the mechanism that governs these physical models. Many powerful methods have been presented to construct the each solutions such as the Backlund transform [1], the homogeneous balance method [2], the extended tanh-function method [3,4], the F-expansion method [5], the exp–function expansion method [6], the generalized Riccati equation [7,8], the sub-ODE method [9,10], the extended sine-cosine method [11], the complex hyperbolic function method [12,13], the (G'/G) -expansion method [14,15,16], the modified rational Jacobi elliptic functions method [17], and so on.

In this article, we use the modified simple equation method [18,19,20,21,22] to calculate the exact solutions of some NLPDEs in mathematical physics, namely the coupled Hirota – Satsuma KdV equations and the generalized coupled Hirota – Satsuma KdV equations.

2. Summary of the modified simple equation method

In this section, we would like to outline the main steps of this method as follows:

We consider the following nonlinear partial differential equation

$$U(u, u_x, u_t, u_{xt}, u_{xx}, u_{tt}, \dots) = 0. \quad (2.1)$$

Step 1. We use the following travelling wave transformation

$$u(x, t) = u(\xi), \quad \xi = x + ct, \quad (2.2)$$

where c is an arbitrary constant to be determined latter. The transformation (2.2) permits us to convert the PDE (2.1) to the ODE in the following form

$$P(u, u', u'', \dots) = 0, \quad (2.3)$$

where P is a polynomial in u and its total derivatives with respect ξ .

Step 2. We suppose that equation (2.3) has the following solution form

$$u(\xi) = \sum_{k=0}^N A_k \left[\frac{\psi'(\xi)}{\psi(\xi)} \right]^k, \quad (2.4)$$

where A_k are arbitrary constants to be determined later, such that $A_N \neq 0$, and $\psi(\xi)$ is an unknown function to be determined later.

Step 3. We determine the positive integer N of the formal polynomial solution equation (2.4) by balancing the highest nonlinear terms and the highest-order derivatives in equation (2.3).

Step 4. We substitute (2.4) into (2.3); we calculate all the necessary derivatives u', u'', \dots , and then we account the function $\psi(\xi)$. As a result of this substitution, we get a polynomial of $\frac{\psi'(\xi)}{\psi(\xi)}$ and its derivatives. In this polynomial, we equate all the coefficients of it with zero. This operation yields a system of equations which can be solved to find A_k and $\psi(\xi)$. Consequently, we can get the exact solution of Eq. (2.1).

3. Applications

The AODV is a reactive routing protocol that combines the advantages of both protocols, Dynamic Source Routing (DSR) and DSDV [22]. If a node using AODV protocol for communication, send a message to a destination node for which it does not have a valid route to, it initiates a route discovery process to locate the destination node [23].

In this section, we use the modified simple equation method to construct the exact solutions for the the coupled Hirota – Satsuma KdV equations and the generalized coupled Hirota – Satsuma KdV equations which are very important in the mathematical physics and have been bailed attention by many researcher in physics and engineering.

3.1. Example 1. The coupled Hirota – Satsuma KdV equations

In this section, we study the coupled Hirota – Satsuma KdV equations[23,24]

$$\begin{aligned} u_t &= \frac{1}{4} u_{xxx} + 3uu_x - 6vv_x, \\ v_t &= -\frac{1}{2} v_{xxx} - 3uv_x. \end{aligned} \quad (3.1)$$

We use the travelling wave transformation,

$$u = U(\xi), \quad v = V(\xi), \quad (3.2)$$

where $\xi = x - \lambda t$. The transformation (3.2) permit us to convert Eqs.(3.1) into the following ordinary differential equations

$$\begin{aligned} \lambda U + \frac{1}{4} U'' + \frac{3}{2} U^2 - 3V^2 + C_1 &= 0, \\ -\lambda V' + \frac{1}{2} V'' + 3UV' &= 0, \end{aligned} \quad (3.3)$$

where C_1 is the integration constant. Balancing the highest order derivative U'' and the nonlinear term U^2 and V^2 in Eq.(3.3), we get $N = M = 2$. Consequently, the solutions of Eq. (3.3) takes the following form

$$\begin{aligned} U &= a_0 + a_1 \left(\frac{\psi'(\xi)}{\psi(\xi)} \right) + a_2 \left(\frac{\psi'(\xi)}{\psi(\xi)} \right)^2, \\ V &= b_0 + b_1 \left(\frac{\psi'(\xi)}{\psi(\xi)} \right) + b_2 \left(\frac{\psi'(\xi)}{\psi(\xi)} \right)^2, \end{aligned} \quad (3.4)$$

where a_0, b_0, a_1, b_1, b_2 , are constants to be determined later, and $\psi(\xi)$ is an arbitrary function to be determined later. Substituting (3.4) into (3.3) and equating all the coefficients of $\psi(\xi)$ to be zero, we obtain

$$\begin{aligned}
\lambda a_0 - 3b_0^2 + \frac{3}{2}a_0^2 + C_1 &= 0, \\
-3b_2^2 + \frac{3}{2}a_2 + \frac{3}{2}a_2^2 &= 0, \\
(3a_1a_0 + \lambda a_1 - 6b_1b_0)\psi' + \frac{1}{4}a_1\psi''' &= 0, \\
-3b_1^2\psi'^2 - \frac{3}{4}a_1\psi'\psi'' + 3a_2a_0\psi'^2 + \frac{1}{2}a_2\psi'^2 + \lambda a_2\psi'^2 - 6b_2b_0\psi'^2 + \frac{1}{2}a_2\psi'\psi''' + \frac{3}{2}a_1^2\psi'^2 &= 0, \\
-\frac{5}{2}a_2\psi'^2\psi'' + 3a_1a_2\psi'^3 + \frac{1}{2}a_1\psi'^3 - 6b_2b_1\psi'^3 &= 0
\end{aligned} \tag{3.5}$$

and

$$\begin{aligned}
6a_2b_2 + 12b_2 &= 0, \\
(3b_1a_0 - \lambda b_1)\psi'' + \frac{1}{2}b_1\psi^{(4)} &= 0, \\
-2b_1\psi''\psi' - \frac{3}{2}b_1\psi''^2 + 3b_2\psi''\psi''' + b_2\psi'\psi^{(4)} + (-3a_0b_1 + \lambda b_1)\psi'^2 - (2\lambda b_2 - 6b_2a_0 - 3a_1b_1)\psi'\psi'' &= 0, \\
(6b_1 + 6a_1b_2 + 3a_2b_1)\psi'^2\psi'' - (3b_1a_1 + 6b_2a_0 - 2\lambda b_2)\psi'^3 - 12b_2\psi'\psi''^2 - 7b_2\psi'^2\psi''' &= 0, \\
-(3b_1 + 3a_2b_1 + 6a_1b_2)\psi^{(4)} + (27b_2 + 6a_2b_2)\psi'^3\psi'' &= 0,
\end{aligned} \tag{3.6}$$

With the help of Maple software package, we solve Eq. (3.5) and (3.6) to yield the following families:
Family 1.

$$\begin{aligned}
a_2 &= -1, & a_1 &= A_1, & a_0 &= -\frac{1}{6}A_1^2 + \frac{\lambda}{3}, \\
b_2 &= 0, & b_1 &= \pm \frac{1}{6}\sqrt{3(A_1^2 - 8\lambda)}, & b_0 &= \pm \frac{A_1}{12}\sqrt{3(A_1^2 - 8\lambda)}, \\
c_1 &= \frac{-\lambda^2}{2} + \frac{1}{48}A_1^4 - \frac{A_1^2\lambda}{6}, & \psi(\xi) &= \frac{1}{A_1}e^{A_1(\xi+A_2)} + A_3
\end{aligned} \tag{3.7}$$

where A_1, A_2, A_3 and λ are arbitrary constants. The solution of Eq. (3.5) takes the following form

$$\begin{aligned}
U &= -\frac{1}{6}A_1^2 + \frac{\lambda}{3} + A_1^2 \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right) - A_1^2 \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right)^2, \\
V &= \pm \frac{A_1}{12}\sqrt{3(A_1^2 - 8\lambda)} \mp \frac{A_1}{6}\sqrt{3(A_1^2 - 8\lambda)} \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right),
\end{aligned} \tag{3.8}$$

In the special case when $A_3 = 1/A_1$ the solitary wave solutions take the form:

$$\begin{aligned}
U &= \frac{\lambda}{3} - \frac{1}{6}A_1^2 + \frac{1}{4}A_1^2 \operatorname{sech}^2 \left[\frac{1}{2}A_1(\xi + A_2) \right], \\
V &= \mp \frac{A_1}{12}\sqrt{3(A_1^2 - 8\lambda)} \tanh \left[\frac{1}{2}A_1(\xi + A_2) \right],
\end{aligned} \tag{3.9}$$

Family 2.

$$\begin{aligned}
 a_2 &= -2, & a_1 &= 2A_1, & a_0 &= -\frac{1}{6}A_1^2 + \frac{\lambda}{3}, \\
 b_2 &= 1, & b_1 &= -A_1, & b_0 &= \frac{1}{12}A_1^2 - \frac{2\lambda}{3}, \\
 c_1 &= \frac{5\lambda^2}{6} - \frac{1}{48}A_1^4, & \psi(\xi) &= \frac{1}{A_1}e^{A_1(\xi+A_2)} + A_3
 \end{aligned} \tag{3.10}$$

where A_1, A_2, A_3 and λ are arbitrary constants. The solution of Eq. (3.5) takes the following form

$$\begin{aligned}
 U &= -\frac{1}{6}A_1^2 + \frac{\lambda}{3} + 2A_1^2 \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right) - 2A_1^2 \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right)^2, \\
 V &= \frac{1}{12}A_1^2 - \frac{2\lambda}{3} - A_1^2 \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right) + A_1^2 \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right)^2,
 \end{aligned} \tag{3.11}$$

In the special case when $A_3 = 1/A_1$ the solitary wave solutions take the form:

$$\begin{aligned}
 U &= \frac{\lambda}{3} - \frac{1}{6}A_1^2 + \frac{1}{2}A_1^2 \operatorname{sech}^2 \left[\frac{1}{2}A_1(\xi + A_2) \right], \\
 V &= \frac{1}{12}A_1^2 - \frac{2\lambda}{3} - \frac{A_1^2}{4} \operatorname{sech}^2 \left[\frac{1}{2}A_1(\xi + A_2) \right],
 \end{aligned} \tag{3.12}$$

Family 3.

$$\begin{aligned}
 a_2 &= -2, & a_1 &= 2A_1, & a_0 &= -\frac{1}{6}A_1^2 + \frac{\lambda}{3}, \\
 b_2 &= -1, & b_1 &= A_1, & b_0 &= -\frac{1}{12}A_1^2 + \frac{2\lambda}{3}, \\
 c_1 &= \frac{5\lambda^2}{6} - \frac{1}{48}A_1^4, & \psi(\xi) &= \frac{1}{A_1}e^{A_1(\xi+A_2)} + A_3
 \end{aligned} \tag{3.13}$$

The solution of Eq. (3.5) takes the following form

$$\begin{aligned}
 U &= -\frac{1}{6}A_1^2 + \frac{\lambda}{3} + 2A_1^2 \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right) - 2A_1^2 \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right)^2, \\
 V &= -\frac{1}{12}A_1^2 + \frac{2\lambda}{3} + A_1^2 \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right) - A_1^2 \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right)^2,
 \end{aligned} \tag{3.14}$$

In the special case when $A_3 = 1/A_1$ the solitary wave solutions take the form:

$$\begin{aligned}
 U &= \frac{\lambda}{3} - \frac{1}{6}A_1^2 + \frac{1}{2}A_1^2 \operatorname{sech}^2 \left[\frac{1}{2}A_1(\xi + A_2) \right], \\
 V &= -\frac{1}{12}A_1^2 + \frac{2\lambda}{3} + \frac{A_1^2}{4} \operatorname{sech}^2 \left[\frac{1}{2}A_1(\xi + A_2) \right],
 \end{aligned} \tag{3.15}$$

Family 4.

$$\begin{aligned}
 a_2 &= -1, & a_0 &= \frac{\lambda}{3}, & b_1 &= \pm \frac{1}{3}\sqrt{-6\lambda}, & c_1 &= \frac{-\lambda^2}{2}, & \psi(\xi) &= A_1\xi + A_2 \\
 a_1 &= b_2 = b_0 & &= 0,
 \end{aligned} \tag{3.16}$$

The solution of Eq. (3.5) takes the following form

$$U = \frac{\lambda}{3} - \left(\frac{A_1}{A_1 \xi + A_2} \right)^2, \quad (3.17)$$

$$V = \pm \frac{1}{3} \frac{\sqrt{-6\lambda A_1}}{A_1 \xi + A_2},$$

3.2 Example 2. The generalized Hirota – Satsuma KdV equations
In this section, we study the generalized Hirota – Satsuma KdV equations [23,24]

$$u_t = \frac{1}{4} u_{xxx} + 3uu_x + 3(-v^2 + w)_x,$$

$$v_t = -\frac{1}{2} v_{xxx} - 3uv_x, \quad (3.18)$$

$$w_t = -\frac{1}{2} w_{xxx} - 3uw_x,$$

We use the travelling wave transformation,

$$u = U(\xi), \quad v = V(\xi), \quad w = W(\xi) \quad (3.19)$$

where $\xi = x - \lambda t$. The transformation (3.19) permit us to convert Eqs.(3.18) into the following ordinary differential equations

$$\lambda U + \frac{1}{4} U'' + \frac{3}{2} U^2 + 3(-V^2 + W) + C_1 = 0,$$

$$-\lambda V' + \frac{1}{2} V'' + 3UV' = 0, \quad (3.20)$$

$$-\lambda W' + \frac{1}{2} W'' + 3UW' = 0,$$

where C_1 is the integration constant. Balancing the highest order derivative U'' and the nonlinear term U^2 and V^2 , consequently, the solutions of Eq. (3.3) take the following form

$$U = a_0 + a_1 \left(\frac{\psi'(\xi)}{\psi(\xi)} \right) + a_2 \left(\frac{\psi'(\xi)}{\psi(\xi)} \right)^2,$$

$$V = b_0 + b_1 \left(\frac{\psi'(\xi)}{\psi(\xi)} \right) + b_2 \left(\frac{\psi'(\xi)}{\psi(\xi)} \right)^2, \quad (3.21)$$

$$W = L_0 + L_1 \left(\frac{\psi'(\xi)}{\psi(\xi)} \right) + L_2 \left(\frac{\psi'(\xi)}{\psi(\xi)} \right)^2,$$

where $a_i, b_i, L_i (i = 0, 1, 2)$ are constants to be determined later, and $\psi(\xi)$ is an arbitrary function to be determined later. Substituting (3.21) into (3.20) and equating all the coefficients of $\psi(\xi)$ to be zero, we obtain

$$\begin{aligned}
 \lambda a_0 - 3b_0^2 + \frac{3}{2}a_0^2 + 3L_0 + C_1 &= 0, \\
 -3b_2^2 + \frac{3}{2}a_2 + \frac{3}{2}a_2^2 &= 0, \\
 (3a_1a_0 + \lambda a_1 - 6b_1b_0 + 3L_1)\psi' + \frac{1}{4}a_1\psi''' &= 0, \\
 (-3b_1^2 + 3a_2a_0 - 6b_2b_0 + \frac{3}{2}a_1^2 + \lambda a_2 + 3L_2)\psi'^2 - \frac{3}{4}a_1\psi'\psi'' + \frac{1}{2}a_2\psi'\psi''' + \frac{1}{2}a_2\psi''^2 &= 0, \\
 -\frac{5}{2}a_2\psi'^2\psi'' + 3a_1a_2\psi'^3 + \frac{1}{2}a_1\psi'^3 - 6b_2b_1\psi'^3 &= 0,
 \end{aligned}
 \tag{3.22}$$

$$6a_2b_2 + 12b_2 = 0,$$

$$(3b_1a_0 - \lambda b_1)\psi'' + \frac{1}{2}b_1\psi^{(4)} = 0,$$

$$-2b_1\psi'''\psi' - \frac{3}{2}b_1\psi''^2 + 3b_2\psi''\psi''' + b_2\psi'\psi^{(4)} + (-3a_0b_1 + \lambda b_1)\psi'^2 - (2\lambda b_2 - 6b_2a_0 - 3a_1b_1)\psi'\psi'' = 0,$$

$$(6b_1 + 6a_1b_2 + 3a_2b_1)\psi'^2\psi'' - (3b_1a_1 + 6b_2a_0 - 2\lambda b_2)\psi'^3 - 12b_2\psi'\psi''^2 - 7b_2\psi'^2\psi''' = 0,$$

$$-(3b_1 + 3a_2b_1 + 6a_1b_2)\psi^{(4)} + (27b_2 + 6a_2b_2)\psi'^3\psi'' = 0,$$

and

$$6a_2L_2 + 12L_2 = 0,$$

$$(3L_1a_0 - \lambda L_1)\psi'' + \frac{1}{2}L_1\psi^{(4)} = 0,$$

$$-2L_1\psi'''\psi' - \frac{3}{2}L_1\psi''^2 + 3L_2\psi''\psi''' + L_2\psi'\psi^{(4)} + (-3a_0L_1 + \lambda L_1)\psi'^2$$

$$-(2\lambda L_2 - 6L_2a_0 - 3a_1L_1)\psi'\psi'' = 0,$$

$$(6L_1 + 6a_1L_2 + 3a_2L_1)\psi'^2\psi'' - (3L_1a_1 + 6L_2a_0 - 2\lambda L_2)\psi'^3 - 12L_2\psi'\psi''^2 - 7L_2\psi'^2\psi''' = 0,$$

$$-(3L_1 + 3a_2L_1 + 6a_1L_2)\psi^{(4)} + (27L_2 + 6a_2L_2)\psi'^3\psi'' = 0,$$

(3.24)

With the help of Maple software package, we solve Eqs. (3.22), (3.23) and (3.24) to yield the following families:

Family 1.

$$a_2 = -1, \quad a_1 = A_1, \quad a_0 = -\frac{1}{6}A_1^2 + \frac{\lambda}{3}, \quad c_1 = \frac{1}{48}A_1^4 - \frac{1}{6}\lambda A_1^2 - \frac{\lambda^2}{2} - 3L_0,$$

$$b_1 = \pm \frac{1}{6}\sqrt{3(A_1^2 - 8\lambda)}, \quad b_0 = \mp \frac{A_1}{12}\sqrt{3(A_1^2 - 8\lambda)}, \quad \psi(\xi) = \frac{1}{A_1}e^{A_1(\xi + A_2)} + A_3$$

$$b_2 = L_2 = 0,$$

where A_1, A_2, A_3, L_0, L_1 and λ are arbitrary constants. The solution of Eq. (3.19) takes the following form

$$\begin{aligned}
 U &= -\frac{1}{6}A_1^2 + \frac{\lambda}{3} + A_1^2 \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right) - A_1^2 \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right)^2, \\
 V &= \mp \frac{A_1}{12} \sqrt{3(A_1^2 - 8\lambda)} \pm \frac{1}{6} A_1 \sqrt{3(A_1^2 - 8\lambda)} \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right), \\
 W &= L_0 + L_1 A_1 \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right),
 \end{aligned} \tag{3.26}$$

In the special case when $A_3 = 1/A_1$ the solitary wave solutions take the form:

$$\begin{aligned}
 U &= \frac{\lambda}{3} - \frac{1}{6}A_1^2 + \frac{1}{4}A_1^2 \operatorname{sech}^2 \left[\frac{1}{2}A_1(\xi + A_2) \right], \\
 V &= \pm \frac{A_1}{12} \sqrt{3(A_1^2 - 8\lambda)} \tanh \left[\frac{1}{2}A_1(\xi + A_2) \right], \\
 W &= L_0 + L_1 A_1 + L_1 A_1 \tanh \left[\frac{1}{2}A_1(\xi + A_2) \right]
 \end{aligned} \tag{3.27}$$

Family 2.

$$\begin{aligned}
 a_2 &= -2, & a_1 &= 2A_1, & a_0 &= -\frac{1}{6}A_1^2 + \frac{\lambda}{3}, \\
 b_2 &= \pm 1, & b_1 &= \mp A_1, & b_0 &= \pm \frac{L_2}{2} \mp \frac{2\lambda}{3} \pm \frac{1}{12}A_1^2, \quad L_1 = -L_2A_1, \\
 c_1 &= \frac{5\lambda^2}{6} - \frac{1}{48}A_1^4 + \frac{A_1^2L_2}{4} - 2L_2\lambda + \frac{3L_2^2}{4} - 3L_0, & \psi(\xi) &= \frac{1}{A_1}e^{A_1(\xi+A_2)} + A_3
 \end{aligned} \tag{3.28}$$

where A_1, A_2, A_3, L_0, L_2 and λ are arbitrary constants. The solution of Eq. (3.19) takes the following form

$$\begin{aligned}
 U &= -\frac{1}{6}A_1^2 + \frac{\lambda}{3} + 2A_1^2 \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right) - 2A_1^2 \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right)^2, \\
 V &= \pm \frac{L_2}{2} \mp \frac{2\lambda}{3} \pm \frac{1}{12}A_1^2 \mp A_1^2 \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right) \pm A_1^2 \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right)^2, \\
 W &= L_0 - L_2A_1^2 \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right) + L_2A_1^2 \left(\frac{e^{A_1(\xi+A_2)}}{A_3A_1 + e^{A_1(\xi+A_2)}} \right)^2,
 \end{aligned} \tag{3.29}$$

In the special case when $A_3 = 1/A_1$ the solitary wave solutions take the form:

$$\begin{aligned}
 U &= \frac{\lambda}{3} - \frac{1}{6}A_1^2 + \frac{1}{2}A_1^2 \operatorname{sech}^2 \left[\frac{1}{2}A_1(\xi + A_2) \right], \\
 V &= \pm \frac{L_2}{2} \mp \frac{2\lambda}{3} \pm \frac{1}{12}A_1^2 \mp \frac{A_1^2}{4} \operatorname{sech}^2 \left[\frac{1}{2}A_1(\xi + A_2) \right], \\
 W &= L_0 - \frac{L_2A_1^2}{4} \operatorname{sech}^2 \left[\frac{1}{2}A_1(\xi + A_2) \right]
 \end{aligned} \tag{3.30}$$

In the special case when $A_2 = 0, A = 2\sqrt{C_2}$, and $\lambda = -V$ the exact solutions (3.30) equivalent the exact solutions (3.7) which obtained in [23,24].

Family 3.

$$a_2 = -2, \quad b_2 = \pm 1, \quad a_0 = \frac{\lambda}{3}, \quad b_0 = \mp \frac{2\lambda}{3}, \quad c_1 = \frac{5\lambda^2}{6} - 3L_0, \quad \psi(\xi) = A_1\xi + A_2$$

$$a_1 = b_1 = L_1 = 0, \quad (3.31)$$

The solution of Eq. (3.19) takes the following form

$$U = \frac{\lambda}{3} - 2 \left(\frac{A_1}{A_1\xi + A_2} \right)^2,$$

$$V = \mp \frac{2\lambda}{3} \pm \left(\frac{A_1}{A_1\xi + A_2} \right)^2, \quad (3.32)$$

$$V = L_0 + L_2 \left(\frac{A_1}{A_1\xi + A_2} \right)^2,$$

Remark. All solutions presented in this paper have been checked with Mathematica by putting them back in the original equations.

4. Conclusions

In this paper, we have used the modified simple equation method to construct some exact solutions for nonlinear partial differential equations in mathematical physics via the coupled Hirota Satsuma equations and generalized Hirota Satsuma equations. As a result, many exact solutions and solitary wave solutions are obtained. We believe that this method should play an important role for finding exact solutions in mathematical physics because this method is much more simple than the other methods.

7. References

- [1]. Y. Chen, Z. Yan and H. Zhang, Exact solutions for a family of variable coefficient "Reaction-Duffing" equations via the Baclund Transformation, *Theor. Math. Phys.*, 132(1): (2002) 970-975.
- [2]. M L Wang, Solitary wave solutions for variable Boussinesq equations, *Phys. Lett. A.*, 199 (1995) 169-172.
- [3]. E. M. E. Zayed, H. A. Zedan, K. A. Gepreel, Group analysis and modified tanh-function to find the invariant solutions and soliton solution for nonlinear Euler equations, *Int. J. Nonlinear Sci. Numer. Simul.* 5 (2004) 221-234.
- [4]. M A Abdou, The extended tanh-method and its applications for solving nonlinear physical models, *Appl. Math. Comput.*, 190 (2007) 988-996.
- [5]. M A Abdou, Further improved F-expansion and new exact solutions for nonlinear evolution equations, *Nonlinear Dyn.*, 52 (2008) 277-278.
- [6]. H. Xin, The exponential function rational expansion method and exact solutions to nonlinear lattice equations system, *Appl. Math. Comput.*, 217 (2010) 1561-1565.
- [7]. B. Chen, S. Min and B. Wang, Exact solutions of generalized Burgers- Fisher equation with variable coefficients, *Comm. Thermo. Phys.*, 53 (2010) 443-449.
- [8]. E. M. E. Zayed and K. A Gepreel, The Generalized Multiple Riccati Equations Rational Expansion Method and Its Application to the (2+ 1)-dimensional Painlevé Integrable Burgers Equations, *Int. J. Nonlinear. Sci. Numer. Simul.* 10 (7) (2011) 839-850.

- [9]. M L Wang, X Z Li and J L Zhang, Sub-ODE method and solitary wave solutions for higher order nonlinear Schrodinger equation, *Phys. Lett. A.*, 363 (2007) 96-101.
- [10]. X Z Li and M L Wang, A sub-ODE method for finding exact solutions of a generalized Kdv-mKdv equation with higher order nonlinear terms, *Phys. Lett. A.*, 361 (2007) 115-118.
- [11]. Z. Yan and H. Zhang, On a new Algorithm of constructing solitary wave solutions for systems of nonlinear evolution equations in mathematical physics, *Appl. Math. Mech.*, 21(4) (2000) 382-388.
- [12]. J L Zhang and M L Wang, complex tanh-function expansion method and exact solutions to two systems of nonlinear wave equations, *Comm Thero Phys.*, 42 (2004) 491-493.
- [13]. E. M. E. Zayed, K. A Gepreel and M. M. El Horbaty, Exact solutions for some nonlinear differential equations using complex hyperbolic function methods, *Applicable Analysis*, 87 (2008) 509-522.
- [14]. M L Wang, X Z Li and J L Zhang, The (G'/G) -expansion method and travelling wave solutions of nonlinear evolution equations in mathematical physics, *Phys. Lett. A.*, 372 (2008) 417-423.
- [15]. E. M. E. Zayed and K. A Gepreel, , The (G'/G) -expansion method for finding traveling wave solutions of nonlinear PDEs in mathematical physics, *J. Math. Phys.*, 50 (2009) 013502-013513.
- [16]. E. M. E. Zayed and K. A Gepreel, , Some applications of the (G'/G) -expansion method to nonlinear partial differential equations, *Appl. Math. Comput.*, 212 (2009) 1-13.
- [17]. K. A Gepreel, T. A. Nofal and A. A. Al-Thobaiti, The Modified Rational Jacobi Elliptic Functions Method for Nonlinear Differential Difference Equations, *J. Appl. Math.*, Volume 2012, Article ID 427479.
- [18]. J. M. Jawad, M. D. Petkovic and A. Biswas, Modified simple equation method for nonlinear evolution equations, *Appl. Math. Comput.*, 217 (2010) 869–877.
- [19]. E. M. E. Zayed and S. A. H. Ibrahim, Exact Solutions of Nonlinear Evolution Equations in Mathematical Physics Using the Modified Simple Equation Method, *Chin. Phys. Lett.* 29 (2012) 6: 060201
- [20]. E. M. E. Zayed, A note on the modified simple equation method applied to Sharma-Tasso-Olver equation, *Appl. Math. Comput.*, 218 (2011) 3962-3964.
- [21]. E. M. E. Zayed and S. A. H. Ibrahim, Exact solutions of Kolmogorov-Petrovskii-Piskunov equation using the modified simple equation method, *Acta Math. Appl. Sinica (English Series)*, In Press.
- [22]. E. M. E. Zayed and A. H. Arnous, Exact solutions of the nonlinear ZK-MEW and the Potential YTSE equations using the modified simple equation method, *AIP Conference Proceedings*, 1479 (2012) 2044-2048
- [23]. F.Xie , New traveling wave solutions of the generalized coupled Hirota Satsuma KdV system, *Chaos Solitons and Fractals* 20 (2004) 1005-1012.
- [24]. F.Fan, Multiple travelling wave solutions of nonlinear evolution equations using a unified algebraic method, *J. Phys. A Math. Gen.* , 35(2002) 6853-6872.